
  

 بسم الله الرحمن الرحيم 2مستوى متوسط/ متقدم
الاسم:     ................................    الشعبة:    …………     
DATE: …………………………………………………….   TIME: 1:10 hours 
 _________________________________________________________________________________ 

( وتبحيث تكون اج( 2)وعددها  جميعها أجب عن أسئلة هذه الورقة . 1: ملاحظات ي
 
كون ابتك على )ورقة القارئ الضوئ

ي الأسئلة على دفتر الإجابة، علمًا بأن عدد 
ر
 (. 3) الامتحان صفحاتاجابتك عن باق

Question One (21 points): Read the following texts carefully, and then in your answer 
booklet, answer all the questions that follow. Your answer should be based on the texts. 
TEXT ONE: 

At a surgery in London, 70 per cent of patients who were offered the choice between 
a herbal or a conventional medicine for common complaints such as insomnia, arthritis and 
migraines chose the herbal remedy. Fifty per cent of patients then said that the treatment 

helped. One doctor said, "I now consider homoeopathy to be a viable option for many 

different conditions, including anxiety, depression and certain allergies. It provides another 
option when conventional medicine does not address the problem adequately." 

 

1. Based on the text, name three illnesses that can be treated through homoeopathy. (6 points) 

2. What does the underlined pronoun “I” refer to? (3 points) 

TEXT TWO: 
As a result of careful planning, the number of healthcare services has been increasing 

rapidly over the past years. More than 800 different kinds of healthcare centres have been 
built, as well as 188 dental clinics. In 2014 CE, 98 per cent of Jordanian children were fully 
immunised, thanks to immunisation teams that had been working towards this goal for 
several years. Although there were remote areas of the country where people had been 
without consistent access to electricity and safe water, almost 99 per cent of the country’s 
population now has access. 
 

3. Quote what proves that “an individual’s immune system becomes protected against an 

illness”. (3 points) 
 

4. What is the ratio of the country’s population who now has access to electricity and safe 
water? (3 points) 

 

TEXT THREE: 

“The population of Jordan increased from approximately 2.3 million in 1980 CE to about 

9.7 million in 2017 CE. It is expected that the population will keep on increasing, and by 2050 

CE it will be about 11.7 million.” 

5. How do you think this increase in population will affect Jordan’s housing, education and 
health facilities?”  (6 points) 

 
SEE PAGE TWO 
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Question Two: (39 points) 
ي نموذج الإجابة )ورقة اختر رمز الإجابة الصحيحة 

 
ي تشتر الى رمز الإجابة ق

، ثم ظلل بشكل غامق الدائرة التر ي
ر
ي كل فقرة ممّا يأئ

 
ق

ي هذا السؤال، علمًا أن عدد فقراته )
 
( فهو النموذج المعتمد )فقط( لاحتساب علامتك ق ي

 
 (15القارئ الضوئ

For Items (1-13) read each one carefully then choose from a, b, c, or d the correct answer. 

1. The drivers ……………. driving the new vehicles yet. 
(A) aren't used to (B)  didn’t used to  (C) used to (D) is used to 

2. I always deal with rich clients. I …………….. so ………….. such ones. 
(A) am not/ use to (B) did/ use to  (C) am/ used to (D) used/ to 

3. “Did you really experience a tough childhood?” Unfortunately yes! I ………… bullied.” 
(A) didn’t use to be (B) did used to be (C) used to be (D) used to being 

4. School children are now less physically active than they ………………………….. 
(A) didn’t used to be      (B) are used to be   (C) are use to be  (D) used to be 

5. She is not ………………………… beautiful, but there is something very attractive about her. 
(A) conventional     (B) convention     (C)  conventionally     D) conventionalise 

6. I was shocked when I heard the news. It came completely ………………………….. 
(A) out of the blue (B) out of the green  (C) white elephant  (D) red-handed 

7. If you ……………………. something, then you give information about something to the 
public, so that they know about it. 
(A) publicise  (B) strenuous   (C) learn  (D) educate 

8. A writing considered ………………… when it has no contractions. 
(A) informal  (B) formal   (C) normal  (D) abnormal 

9. Doctors often treat infections with antibiotics; that is the ……………………… approach. 
(A) sceptical   (B) alien  (C) conventional  (D) strenuous 

10. The phonetic transcription (IPA) for the word “school” is…………………..  
(A) /kɑːm/  (B) /skuːl/  (C) /ɪmˈpɔː.təns/  (D) /ˈek.sə.saɪz/ 

The calm lake was similar to a mirror. 
11. What is the rhetorical device used in the sentence above? 

(A) personification (B) onomatopoeia  (C) metaphor  (D) simile 

12. In the near future ……………………… a new ‘bionic eye’ will have helped people with 
failing …………..…. to see again. 

(A) . / eyesite (B) . / eyesight  (C) . / eye site (D) , / eyesight 

13. The boy ………… Sheikh Hamdan’s attention with his invention – a prosthetic limb for his father. 

(A) caught (B) got   (C) took  (D) made   
 

https://dictionary.cambridge.org/dictionary/english/beautiful
https://dictionary.cambridge.org/dictionary/english/attractive
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